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Bu testte 75 soru vardır.
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Janet:
 Come and have a look at this! The dress that my

sister ordered last week has arrived.

Martha: 
 It’s really beautiful. She’s right to pride herself on

dressing elegantly.

Janet: 
 We often share our clothes with each other, but they

don’t look great on me as they do on her.

Which type of pronou n is not seen in the given
dialogue?

Relative Reciprocal

Demonstrative Reflexive

Indefinite 
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C) D)

E)

Diğer sayfaya geçiniz.7

DOĞRU CEVAP: E 



2021-ÖABT/İNG

25.

26.

27.

28.

29.

Diğer sayfaya geçiniz.8



2021-ÖABT/İNG

Complementaries display a type of oppositeness of
meaning, illustrated by pairs such as single/married
and husband/wife. Single is said to be the
complementary of married and vice versa. In such a
relationship, the assertion of one of the items implies
the denial of the other (i.e., the entity cannot be both at
once). In addition, the relation of ‘complementarity’ is
characterised by the lack of any gradability between the
items.

Based on the given information, which of the
following pairs can be classified as a pair of
complementary antonyms?

close / distant big / small

wide / narrow young / old

dead / alive
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35. Below are the lines from Sir Thomas Wyatt’s In
Mourning Wise, which commemorates the five men who
were executed as Anne Boleyn's lovers: her brother
Lord Rochford, the courtiers Henry Norris, Francis
Weston and William Brereton, and the court musician
Mark Smeaton.

In mourning wise since daily I increase,
Thus should I cloak the cause of all my grief;
So pensive mind with tongue to hold his peace
My reason sayeth there can be no relief:
Wherefore give ear, I humbly you require,
The affect to know that thus doth make me moan.
The cause is great of all my doleful cheer
For those that were, and now be dead and gone.

Which of the following types of poem is exemplified
above?

Pastoral Elegy

Epistle Mock Epic

Didactic
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In the table below, principles of some certain
methods/approaches are given:

Methods &
Approaches

Principles

X

 It integrates the learning of language
into the learning of academic subjects,
such as history or geography.

 Learners work with cognitively
demanding language within the
context of authentic tasks, and
they are given multiple opportunities to
use the new language they acquire as
they read, discuss, and write about
specific topics.

 Vocabulary is easier to acquire when
there are contextual clues to help
convey meaning.

Y

 Speech is more basic to language
than the written form, and speaking
and listening skills are prioritised.

 The teacher presents grammatical
points through examples, hence
employing inductive teaching of
grammar.

 Errors must be corrected immediately
because they lead to the formation of
bad habits.

Which of the following completes the table
correctly?

              X                             Y               

Community Language Communicative Language
Learning Teaching

Task-based The Grammar-Translation
Approach Method                    

The Direct Method Desuggestopedia

Content-based The Audio-Lingual 
Instruction Method

The Natural Approach Total Physical Response
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There is a great deal of difference between the way
words are pronounced in isolation and their
pronunciation in the context of connected speech.
Regarding this fact, Mr Roach shows the following
phrases to his intermediate-level students:

 my turn /maɪ tɜ:n/ (the aɪ diphthong is longer in
‘my’, t is fully aspirated when initial in ‘turn')

 might earn /maɪt ɜ:n/ (the aɪ diphthong is shorter in
‘might’, t is unaspirated when final in ‘might’)

Which feature of pronunciation is being taught by 
Mr Roach through the examples above?

Elision Intrusion

Assimilation Dissimilation

Juncture
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Teachers have to use organisational networks to
provide learners with new vocabulary. Below are
examples of different methods of vocabulary
organisation:

 shopping bag – cashier – change – trolley
 body – arms/legs – fingers/toes
 food – vegetable – cabbage
 hot/cold – happy/sad

  Which of the following methods of vocabulary
organisation is not exemplified in the list above?

Presenting hierarchies with hyponyms

Forming groups of thematically-related words

Listing words with similar morphological properties

Introducing words through antonymy

Establishing relations of wholes to parts
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 Which of the following is a characteristic of scripted
conversations in textbooks that distinguishes them
from authentic ones?

Phrases and utterances are often repeated or
reformulated during the conversation.

Speakers usually interrupt each other and speak at the
same time.

A number of utterances are incomplete or are often
completed by the other speaker.

There are too many non-content words such as oh,
uhh, and etc., which serve to indicate surprise or
incomprehension.

Conversation is generally smooth and trouble-free,
and does not involve lots of gap-fillers.
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69.

Step 1. TPR (Total Physical Response) as a warm up.
Step 2. Watch a video.
Step 3. Teach the target words. (The names of toys in
the video: truck, airplane, ball, teddy bear, doll, etc.)
Step 4. Play a guessing game. (The teacher puts some
toys into a box. A student comes to touch it and others
guess what it is. Purpose: practise saying the names of
toys)
Step 5. Teach and practise a chant. (It’s a car. It’s a car.
What a beautiful car.)
Step 6. Pairwork. (Practise the dialogue: Student 1:
Look, I have a truck. Student 2: Oh, what a beautiful
truck!)
Step 7. Performance. (Pairs come to the front and
present their dialogue to the class.)

 Which of the following is not true about the
presentation of the activities in a young learners’
English class? 

There is some peer interaction although it might be
mechanical. 

The element of joy seems to be one of the main
components of the class. 

A variety of activities are offered to engage the
learners in the lesson. 

Activities involve receptive language skills rather than
productive ones.

Audiovisual materials and realia are used in the
lesson. 
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TEST BİTTİ.
CEVAPLARINIZI KONTROL EDİNİZ.23




